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1.  Explain features of public and private sectors. 14
2. Discuss the causes of market failure. 14
3. Discuss the problems for allocating resources. 14
4.  Discuss the median voter theorem of voting system. 14
5. Explain the pure theory of public expenditure. 14
6.  Discuss the contributions of Samuelson and Musgrave for allocation of public goods. 14
7. Explain the economic effects of income tax. 14
8. Discuss the theory of optimal taxation and lifer curve. 14
9. MCQs 8
(1) What is the objective of production of companies for private goods ?
(a) Social Service (b) Maximum Profit
(c) Maximum Sale (d) None of the above
(2) What is the objective of producing public good ?
(a) Maximum Social Welfare (b) Maximum Profit
(c) Personal Welfare of households (d) Maximum Sale
(3) Who is the owner of public good ?
(a) Banks (b) Government
(c) Companies (d) Public
(4) On what basis Adam Smith analyzed public expenditure ?
(a) Government functions (b) Protection
(c) Price (d) Goods
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Prof. Dalton analyzed the public expenditure in how many parts ?

(a 1 (b)) 2

(c) 3 (d 4

How many types of public expenditure are given by J.S. Mill ?
(a 1 (b)) 2

(c) 3 (d 4

Taxes are which type of payment ?

(a) Compulsory (b) Voluntary

(¢) (a)and (b) both (d) None of these
Who bears impact of tax in progressive tax ?

(a) Poor class (b) Banks

(¢) Government (d) Richclass



